RiESEEH

gt%g{%;%g%%ﬁfﬁﬁ%iﬁﬁﬁ 15 - P it

ITARIEREFHEMED
RETEBRAFEMEBRMOLTIE
THM2E3ANLERY HEMELRAL TS,




ES LT e

ARE

¥V (R 1R BRI 18- mEnk  3EHEES E S i ARG
I H SR R
THA - T/ - &R - ) HikE AL & HAfff x| B - KA i
A &S R% G
*
&Rkt
at
Eds i
at
R R fAl 15
(m) = (10 )1
TEEERE
at
— A S R R
at
— RS R AT
*
(& ) =X 2 )1
B ]
at
oom RREHES)
*
e
at
A4 PR T A R 1A 35
e
EEEAN (FOMEAmER<)
*

=
i
i




B LR RE

¥V (R 1R BRI 18- mEnk  3EHEES E S fit TARFRFEES
I H Iim
THA - T/ - &R - ) HikE AL & HAfff x| g - SRR

Z Ot JEAR

= 1
— R A P

= 1
BXEI SR

= 1
THE PR 2 %A

= 1
REIEGEOE

= 1

_9 - THE Y I




A A A A 2020. 03

1 yjh\ W %R % ifﬁﬁﬂ%ﬁﬂ 2020. 03

F SRR 1. 000-00000 0.0 0

B e | R R

S - Bk ESlis HAT ok HLifh AR IEES

T
—+

B N 6%

(m) = (10 )1

e
T

Bl A N TE
I
(m) %X (10 )1

FEARFEHORE T
EIEY) & OETRGE W+
(m) X (10 )1

s RET N 9E
it
(m) = (10 )1

ARERRE ZEF N 105

)3
(m) = (10 )1

I fEaR kit = Ok N 115
)3
(m) =X (10 )1

it Tt No12E

it
(m) = (10 )1

i T2 ({5 3 ) M1E

)3
(m) = (10 )1

X i R AR N 145
[)e=
(m) K (10 )1

N =AMERK W 155
i
(m) 2 (10 )1

;ﬁ%%’% |j<] 167':7_]‘

)3
(m) = (10 )1

R NLTE
it =

(m) X (10 )1

|
wW

|
=
i
i




A A A A 2020. 03

1 WC WER% A A A 2020. 03
SRR 1. 000-00000 0.0 0

IR A [Logill
2 - Bk S BN o HAfh &H L
N 185
(m) = (10 )1
&t

=
i
i




N = HAGAE T AR H 2020. 03
1 OH\WER% SEBNEIAE [2020.03
o op | R T TR AR AL 1.000-00000 0.0 0
xekatm an e A Hf K i ff T %
N 195
GCEDREN 2 1
AT OMHETR N 205
GCEDREN 2 1
AR W 215
(&) 3 (2 1
it Mo22%
GCEDREN 2 1
BB N 23
e GCEDREN 2 1
N 245
TR (BT X e )1
N 255
GCEDREN 2 1
Bl A N 265
K 1
At

|
(2]

|
=
i
i




— i A A A A 2020. 03
1 DH\WER A A A 2020. 03
H = SRR 1. 000-00000 0.0 0
woosE[fTEYE T A g 1]
2 - Bk S BN # HAfh &HE L
et N 275
ES
&t
— i AT E A A A 2020. 03
1 DH\WER A A A 2020. 03
H = SRR 1. 000-00000 0.0 0
2 - Bk S BN o HAfh &HE L
EE N GRRIED)
X
o/ 1—a)
%
Z Ot M
*

o>
=11}
+

=
i
i




N = B sk 4 A 2020. 03
1 /ﬁ( W :Ri BEAEA | [2020.03
H = e S ik (7
ETETT F SRR 1. 000-00000 0.0 0
N 5E| {
e an e sl L K [ & i
3
= 1
B/ (1—58)
%
— R R A
T & !
&t
— 7 —

=N



A A A A 2020. 03

Y ==
2 /ﬁ( W ﬁR% BEAEA | [2020.03
SRR 1. 000-00000 0.0 0

N on 2
T AR R Gl A Yok il o T
A () =
2 () A
7 A BERRBE VY 2
= 1
it

=
i

m



\ = Bl 4 2020. 03
2 /jh\ W ﬁR A A A 2020. 03
F TR 1..000-00000 0.0 0
T 57 155 B AR .
T g
EREET an e sl L K [ & i
A
Hefili (A)
A
el (B)
A
BT RS AR
"
&t

=N

m




— A 4 A 2020. 03
2 IRNERZE BESEMIER  [2020.03
H H F RS IR 1. 000-00000 0.0 0
 EAREOIE
N 8T e L o MR T
T - B P o o Y i o T
R (V)
A
£ (B)
A
6 (C)
A
]
= 1
aat
S0 i




— A A A A 2020. 03
2 IRNERZE BESEMIER  [2020.03
H = SRR 1. 000-00000 0.0 0
o | FEURE
N9
2 - Bk At BN B HAfh &% i
TAEHRAT
A
Hefifi (A)
A
Hefii (B)
A
B RS AR
= 1
&t
- b U




N = B sk 4 A 2020. 03
2 /jh\ W :R = BEAEA | [2020.03
H = 23 S ik (7
TR B F SRR 1. 000-00000 0.0 0
N 105 sin
2 () AR sl L K [ & i
A
Rl (B)
A
(O]
A
T AL TR
=V 1
&t
— 12 —

=
i
i




A A A A 2020. 03

Y ==
2 /ﬁ( W ﬁR% BEAEA | [2020.03
SRR 1. 000-00000 0.0 0

N Lig | E O iR
i

Fail () an e Gsias A KA AT o i
A

FEfl (B)
A

FEfl (O)
A

BT AR T
X 1

&t

=
i

,13,

m



— A A A A 2020. 03
2 IRNERZE BESEMIER  [2020.03
H = SRR 1. 000-00000 0.0 0
o | T
N 125 =
2 - Bk At BN B HAfh &% L
Hefii (A)
A
Fe A (B)
A
Hefii (C)
A
B RS AR
= 1
&t
- TR IR




— A A A A 2020. 03
2 IRNERZE BESEMIER  [2020.03
H = SRR 1. 000-00000 0.0 0
No13E ﬁﬁ}%@({&%&%@)
[[0)==
2 - Bk At BN B HAfh &% i
Hefii (A)
A
Hefifi (B)
A
Hefii (C)
A
B RS AR
= 1
&t
T i




— A A A A 2020. 03
2 IRNERZE BESEMIER  [2020.03
H = SRR 1. 000-00000 0.0 0
Ij;] 14% ﬁﬁzﬁk
i f=
2 - Bk At BN B HAfh &% L
Hefii (B)
A
He i (C)
A
Hiti B
A
B RS AR
= 1
&t
- 16 - TR IR




N = B sk 4 A 2020. 03
2 /jh\ W ﬁR % BEAEA | [2020.03
pCyr SRR 1. 000-00000 0.0 0
N 155 ey
2 () AR sl L K [ & i
A
Rl (B)
A
Hefi (C)
A
B R
=V 1
o
R L IR




— A A A A 2020. 03
9 Y’?{ Iji]?)i'i SRR 202003
H = SRR 1. 000-00000 0.0 0
o | BEFE
N 165 e
2 - Bk S BN o HAfh &% L
Hefii (B)
A
He i (C)
A
Hiti B
A
B RS AR
= 1
&t
oI5 IR

,18,



— i A A A A 2020. 03
2 WC WER A A A 2020. 03
H = SRR 1. 000-00000 0.0 0
o | B
N 175 e
LR - B S =<¥iva o BT &HE L
TAEHRAT
A
Fe A (A)
A
Hefii (B)
A
Hefii (C)
A
R AR
= 1
At
- 19 - oI5 IR




N = B sk 4 A 2020. 03
2 /jh\ W ﬁR % BEAEA | [2020.03
ey SRR 1. 000-00000 0.0 0
N 18% F@%E
ER T - Gsias A KA AT o i
A
Hhili (A)
A
Hhim (B)
A
BT A T
=V 1
o
S 20 IR




\ = ! 2020. 03
2 /jh\ W ﬁR % BEAEA | [2020.03
FETET— 55 15 AR I 1.000-00000 0.0 0
195 |PATE
= K - Bk At HAL Kk skl &% i
UN
FHil (A)
A
R PR R
E2V 1
=Xl

\ = AT A A 2020. 03
2 /ﬁ( W ﬁR% BEME [2020.03
EETy T I B AR K 1..000-00000 0.0 0
Ij;] 20% AX AT 2R i
2 () AR sl AL K [ & i
A
A SR
2 1
At
S IR




— A A A A 2020. 03
2 IRNERZE BESEMIER  [2020.03

H = SRR 1. 000-00000 0.0 0

Ij;] 21% %&%JF%'%:
2 - Bk At BN B HAfh &% L

Hefii (A)

A
Fe A (B)

A
Hefii (C)

A
B RS AR

= 1

&t
T2 i




— A A A A 2020. 03
2 IRNERZE BB [2020.03

H = SRR 1. 000-00000 0.0 0

Ij;] 22% %&%JF

2 - Bk S BN o HAfh &% L

Hefii (B)
A

He i (C)
A

Hiti B
A

B RS AR
= 1

&t
oI5 IR

,23,



— A A A A 2020. 03
2 IRNERZE BESEMIER  [2020.03

H = SRR 1. 000-00000 0.0 0

Ij;] 23% %[i%‘%

2 - Bk S BN o HAfh &% L

Hefifi (C)
A

HIlFE
A

B RS AR
= 1

&t
oI5 IR

,24,




— A A A A 2020. 03
9 th\ljﬂg)i'i SBENEMA ] [2020.03
H = SRR 1. 000-00000 0.0 0
P 24t | A
2 - Bk At BN B HAfh &% L
TAEHRAT
A
Fe A (A)
A
Hefii (B)
A
Hefii (C)
A
BT R Ak
= 1
At
- 25 - oI5 IR




N = B sk 4 A 2020. 03
2 /jh\ W ﬁR % BEAEA | [2020.03
ey SRR 1. 000-00000 0.0 0
N 258 |TE =
Fail () an e Gsias A KA AT o i
A
Rl (B)
A
Hefi (C)
A
g
A
RS T
=¥ 1
At
- 26 IR




N = B sk 4 A 2020. 03
2 /jh\ W ﬁR % BEAEA | [2020.03
T SRR 1. 000-00000 0.0 0
N 265 H
Fail () an e Gsias A KA AT o i
A
Rl (B)
A
BT AR TR
= 1
&t

N = B sk 4 A 2020. 03
2 QH\WER% AEEMAEA  [2020.03
— SRR 1. 000-00000 0.0 0
woo2rE|TE
EREET an e sl AL K [ & i
A
Hhili (A)
A
Rl (B)
A
a8t
-2 L IR




RETXFBICHITLRESEEH FEEEH)

FERI #A A1 BEEH

— iR E Y ER AT FBEEE W 2K 15E1=
1R R & AR ETEEA
A 0=70° X%
AT DERE 3
i E BT 1EFr

R MERET EEEMERET HgEh izt —fi%h Az
B s R bR 20~25m
Hhigk — i3 X

&t &t FRITEEEE 1@




z 2 v &
~ I - /.
: ! = s
g = A / J
i ~
BX‘ 730 s K gt 34 : 'V\v- 7\ ﬁ
T RS - 4N ol / — 77
<o — 71 K35 — 7 77
m»} H25 . ’:)
Y-G90 ‘Z 4 s, <7 No. 17 = NO Q\ /NO.{lQ //
"L L s Aok = VA
als H ~
NO. 13 /I ;. ~ ... 1\/ / = ]
12 9 <
No, 11 = - / f " EE
—_— // ! /., 3
! Tl
! | /. e
% “ { =
6§ f i ° " LAL
/ [ No. 17 &=
P / ! No. 16 o
M / 2
e 14 / L S __—m S
8|8 3 ,l [=) %Y e
in NO, 11 < /4 ~
6 P - =
= o /I 7 - ~ 018 19
T o / fommmms . =
‘T‘E o il < // / = — - g
=2 _ I . — 7 -
NO. 11 oSN -84 \\:Z'I(- g F
T 2 (), % — . —
4 N i
— T T S )
s S 7 ) == d T 124 KiTs 125 | ]\E ( _ z z
.‘_‘Nf—myg 2 21 | _,,wfﬁ T‘ﬁ 2 02
‘I i \/"/ 323 :; o
T /
I\ —
2 2
o
-1 < >
K.B.M-2 5 z;ﬁy?b%'?"{‘ =40.0
= TP=1.708 P EwEs 1=300
£y 7 bR AP
ZEKX
Z>
B B R B R
NoDE R REES |$ 1| B HE#H |
¥ B 4 |nEm geARe 6 ERER BHES
%2 FER(3ER) R 1:500
) % M ESRRR
TR EETAHE2TE~NBHXE
N RREH | REHEHR
CER) EEEEHMBRIAE TR o MEEE %ﬁﬂiﬁiﬁ\jr$§%;\

BEEZHICOVWTIERhEH

THd
EEBLTRET D&,

]

BERRLERY




